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==> The two solutions are actually identical.«<

==> check the two fit solutions further: do they agree with the expected
mathematical relations of the ambiguous solution?l

Or are they just one solution?<

==> Perform some IO test to check the fitting bias«
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TRandom *r = TRandom;

TString outpath =

)

TFile f( outpath+

int j = 0;
int NSIGO[ 1;
int NBKG|[ 1;
(j<nums){
int nSIGO® = round(r->Poisson(NSIG _tmp));
int nBKG = round(r->Poisson(NBKG_tmp));
((nSIGO>0)&&(nBKG>8)){
NSIGO[j] = nSIGO;
NBKG[j] = nBKG;
cout<« <<j <« <<NSIGO[j]<<endl;
cout<« <<j <K <<NBKG[j]<<endl;
toydatas[j] = 'Func_sige.gener'ate(-, NSIGO[j], Name(

toydatab[j] = func_bkg.gener‘ate(-, NBKG[j], Name(
toydatas[j]->append( *toydatab[j]);
toydatas[j]->Write();

J++;

+times

+times[j]));
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log2309.0ut of TOY@@1 Warning!!!
log3@00.0ut of TOYEB2 Warning!!!
log2900.0ut of TOY®O4 Warning!!!
log3020.0ut of TOYE®6 Warning!!!
log2232.0ut of TOYEO7 Warning!!!
log2646.0ut of TOY@O7 Warning!!!
log2981.0ut of TOY@®7 Warning!!!
log3@00.0ut of TOYEE9 Warning!!!
log3e80.0out of TOYEBY9 Warning!!!
log2646.0ut of TOY@12 Warning!!!
log3020.0ut of TOYG12 Warning!!!
log2309.0ut of TOY@1l3 Warning!!!
log29@08.0ut of TOY®13 Warning!!!
log2000.0ut of TOY@1l4 Warning!!!
log2900.0ut of TOY@1l4 Warning!!!
log2232.0ut of TOY®15 Warning!!!
log2309.0ut of TOY@1l6 Warning!!!
log3@ee.out of TOY®1l6 Warning!!! .
log2232.0out of TOY®17 Warning!!! 144/1900 warning
log2396.0ut of TOY@1l7 Warning!!!
log2232.out of TOY®18 Warning!!!
log2981.0ut of TOY@1l8 Warning!!!
log3@00.0out of TOY@1l8 Warning!!!
log3e80.0out of TOY®18 Warning!!!
log3e80.0ut of TOYG19 Warning!!!
log2309.0ut of TOY@24 Warning!!!
log2646.0ut of TOY@24 Warning!!!
log3e80.0ut of TOYG24 Warning!!!
log2232.0ut of TOY@25 Warning!!!
log2309.0ut of TOY@25 Warning!!!
log3e80.0ut of TOYG26 Warning!!!
log2900.0ut of TOYB28 Warning!!!
log3@00.0out of TOYG28 Warning!!!
log2309.0ut of TOYB29 Warning!!!
log2646.0ut of TOYB29 Warning!!!
log2950.0ut of TOY@29 Warning!!!
log3@208.0ut of TOY®29 Warning!!!
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log2646.0ut of TOY@3@ Warning!!!
"warn_list" 144L, 4752C
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Figure 50: Pull distribution of the sampled resonance parameters.
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TRandom r;
r.SetSeed(seed);

RooDataSet *toymc = 1Cun(:.gener‘ate(-Jlr r.Poisson(ntoy));
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